
CS UNITEC, Inc.
22 Harbor Ave., Norwalk, CT 06850 • 4330 Center St., Deer Park, TX 77536  USA

800-700-5919 • 203-853-9522 • www.csunitec.com © 2019 CS Unitec, Inc.

DANGER—SAFETY: Keep hands and other objects well clear of the mixing shaft and canister when mixer is in operation or serious injury could result.

PMH80RL
EXPLODED DIAGRAM

EHR 32/2.4 P

Motor

 

 

Chassis

Nut M10

PH603

Motor Mount

PH705

Liner

TW225 / TW225D

Mixing Helix

PH714 HIPPO Canister

PH206-4

Canister Retaining Bolt

PH360 Motor Mount Spring Pin

PH718

Lid

PH120 (includes PH603 + PH211)

Chassis and Cradle Assembly

PH361

Motor Mount Stop Pin

PH211

Tilt Lock Lever

PH251

End Cap

PH250

Cradle Mount Bush

M10/35 Lever Lock Bolt (M10x35)



CS UNITEC, Inc.
22 Harbor Ave., Norwalk, CT 06850 • 4330 Center St., Deer Park, TX 77536  USA

800-700-5919 • 203-853-9522 • www.csunitec.com© 2019 CS Unitec, Inc. © 2019 CS Unitec, Inc.

DANGER—SAFETY: Keep hands and other objects well clear of the mixing shaft and canister when mixer is in operation or serious injury could result.

PH400
F SERIES WHEEL KIT

 

 

 

 

PH500
X SERIES WHEEL KIT

PH410

Locking Caster

PH411

Swivel Caster

PH206-F

Chassis Bolt Kit

PH206-X

Chassis Bolt Kit

PH206-1
Axle
Washer (M16)

PH206-5
Axle
Split Pin

PH209

X Series Wheel

PH210

Left Foot

PH210

Right Foot

PH208

X Series Axle


